Math 180: Applications of Net Change
1. A honeybee population starts with 100 bees and increases at a rate of 
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 bees per week.  What does 100 + 
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  represent?
2. If  f (x) is the slope of a trail at a distance of x miles from the start of the trail, what does 
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  represent?

3. Water flows from the bottom of a tank at a rate of 
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 Liters per minute, for 
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.  Find the amount of water that flows from the tank during the first 10 minutes.
4. A particle moving along a line has an acceleration function (in m/s2) of 
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 and an initial velocity of – 4 m/s.  Find:
a. The velocity of the particle at time t.

b. The displacement (net change of position) of the particle during the first 3 seconds.

c. The distance the particle traveled during the first 3 seconds.
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